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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet.

1- Before you -—-e-eeeee to the next question, you should take some time fo make sure
you’re happy with your answers so far.
1) prescribe 2) precede 3) proceed 4) preface

2- My first day of babysitting was an absolute -—------- ; the kids spilled food all over the
kitchen and they wouldn’t listen to anything I had to say.
1) invasion 2) enigma 3) condemnation 4) fiasco

3- We were very unhappy with the --—----- way the moving company tossed our boxes
into our new house.
1) haphazard 2) impatient 3) mitial 4) neutral

4- The author used -————— when he said the dog was “as big as a house.”
1) shortsightedness 2) hyperbole 3) precision 4) pretension

5- I never thought you would get so upset about such a —-—-—---- matter.
1) contradictory  2) consistent 3) colloquial 4) trivial

6- The police wondered about the man’s ---------- for committing the crime.
1) inhibition 2) motive 3) impact 4) inspiration

7- While most club members have agreed with the decision, I expect Ricky to -———-—
foreibly.

1) dissent 2) vanish 3) avoid 4) abate

8- “It is my firm --—----—o ., said the candidate, "that family farms must receive
government help.”
1) speculation 2) safeguard 3) conviction 4) deprivation

9- You’ll have a better chance of finding that unusual word if you look it up in a/an
uuuuuu dictionary.
1) skilled 2) publicized 3) cultured 4) unabridged

10- Because the hikers planned to reunite at 4:00 P.M., they paused fo ---—------ their
watches.
1) illuminate 2) reinforce 3) synchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Herbicides, also commonly known as weed killers. are pesticides used to kill unwanted plants.
Selective herbicides kill specific targets, (11) —=-=esem- the desired crop relatively unharmed.
Some of these act by interfering with (12) ————— and are often synthetic mimics of natural
plant hormones. Herbicides used to clear waste ground, industrial sites. railways and railway
embankments are not selective (13) -——--—— all plant material with which they come mnto
contact. Smaller quantities are used in forestry. pasture systems, and management of areas
(14) —=ammemm as wildlife habitat.

Some plants produce natural herbicides. (15) === the genus Juglans (walnuts), or the
tree of heaven: such action of natural herbicides., and other related chemical interactions, is
called allelopathy.

11- 1) they leave 2) when left with 3) while leaving 4) by leaving
12- 1) the weed of growth 2) the growth of the weed

3) the weed in growing 4) the growing of weed
13- 1) and kill 2) killer of 3) to kill 4) which kill
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14- 1) where set aside 2) in which they are set aside
3) that set aside 4) set aside
15- 1) either 2) such as 3)or 4} includes

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the

best choice (1), (2), (3), or (4) and then mark the correct choice on your answer sheet.

PASSAGE I:

Learning a language is probably the stellar intellectual achievement across the species. It is
robust. Children will learn a normal language right down to an 1Q of around 50, before what
they learn suffers appreciably. People try to teach children things about language in school.
but the real bulk of language is learned in the preschool years. and is learned without anything
resembling tutoring. We Know now, for example, that parents do not reward children
differentially on the basis of how well they put words together to make sentences, even though
they may think they do. Nor do less correct sentences seem to communicate appreciably less
well than accurate ones. Yet children inexorably learn the complexities of language — the
arbitrary noun gender systems of Indo-European languages, the seventeen noun classifications
of Bantu, the complex vocabulary of mental terms and modal verbs or particles that seem to be
present in all languages.

How do they do this? Chomsky (1980) whose linguistic work was the cause of the modern
resurgence of language development work. argues that all these things — the complexity of
language, the robustness of its learning, its relative ease of acquisition without tutoring. the
child's choice of some rules over others that should be justified by the same examples- all
argue that the child approaches the problem with a rich. mnately given biological programme
for what languages be like or are likely to be like. This position recently finds some empirical
support in the work ol Bickerton, who has studied creole languages. the languages that
presumably children create out of the fragmentary and conflicting pidgins they are exposed to.
Bickerton (1981) finds that these creoles have more in common than the children built them
from, and this argues they have strong ideas about what languages should be. On the other
hand, many, perhaps a large majority in the field of normal acquisition. still think language is
constructed by the child using what must be a verv rich system of general intelligence. If this is
s0, the preschool child is far more intellectually powerful than has seemed so in the past, but
this is turning out to be true in many areas besides language development.

16- The passage is mainly about .
1) development stages of children
2) emergence of language in children
3) the role of intelligence in language learning
4) how to learn a Chomsky believes
17- It can be understood from the passage that Chomsky believes
1) language is an inherent human quality
2) parents use a style of speech with infants
3) learning a language is the result of imitation and reinforcement
4) there are a range of language abilities that a person can perform with assistance
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18- By reading the passage, one come to the conclusion that
1) children understand a lot more than they can say
2) pidgin languages that the children built from creoles have no native speakers
3) preschool children develop many of the foundations that underpin speech and
language development
4) language development supports the children’s ability to communicate and express
their feelings
19-  The word “tutoring” as it is used in the passage (line 14) means

1) condition 2) discrimination 3) instruction 4) recognition
20-  According to the passage, children learn the complexities of language

1) through rote learning 2) as an ongoing process

3) over a short period of time 4) without any general principle
PASSAGE 2:

As an applied field of study, the problems investigated in the area of education tend to follow
closely the concerns articulated by leaders in business, government and the media. For
example. in the late 1950s and early 1960s when American political leaders were primarily
concerned with the space race with the Soviet Union and the so-called missile gap, a series of
reports by the well-known educator, James B. Conant focused on the lagging academic quality
of education in the United States. Educational research in that country then turned towards
developing curriculum units, teaching strategies. school procedure and design that would
produce more scientists and engineers. In this period, for example. the 'Jew Math' flourished,
and influential educators. such as the psychologist Jerome Bruner, proposed the teaching of
science. mathematics and other academic programmes in the lower grades.

In the mid-1960s. social pressure built up over the civil rights issue, and the concern of much
of the educational research community again shifted towards issues related to equality of
opportunity. The work of Jean Piaget provided the intellectual basis for curriculum researchers
in Britain and the U.S. who argued for relaxing the structure of the curriculum by allowing
more room for the individual expression of interests. Some opposed these moves because they
were too permissive but the intention was to create a fruitful interaction between the
developmental patterns found among children and the structure and pacing of curriculum
knowledge. However. the apparently reduced emphasis on a hierarchy of knowledge (with
science. maths and other college preparatory subjects at the top and vocational subjects at the
bottom). and the renewed recognition of the importance of the interest of the individual child as
a major factor in the learning process, appeared to be consistent with the wider concern for
equality of opportunity.

21- What does the passage mainly discuss?
[} Political goals of education
2} Curriculum design in Europe and America
3) Educational research in the 20" century
4) Various concerns ol the education communtiy
22- The passage suggests that
1) there is a renewal of interest in child g gnmh
2} the order of teaching has to be determined by the rate of learning
3) a Piagetian- inspired curriculum emphasizes a teacher-centered instruction
4) knowledge presentation in the area of education forms hierarchical structures
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23- The word *flourish™ in line 9 is closest in meaning to .

1) change 2) develop 3) struggle 4) determine
24-  According to the passage , Piaget’s work in education -.

1) was not lavored by curriculum researchers in North America

2) formed the basis for the hierarchy of knowledge in education

3) focused on children’s interest and their active involvement in learning activities

4) re-emphasized practices aimed at making children adult-like in their thinking
25- It can be understood from the passage that equity in education ----------- —

1) raises standards for all students

2) increases school dropout rate

3) pays little attention to individual children’s interests

4) is vital because equality of opportunity is a core American value

PASSAGE 3:

The impact of emotions has implications for children's learning. Some pupils fear failure and
worry about getting things wrong and being in trouble as a result. Other pupils are either
unwilling to persevere when faced with challenges because they are unable to cope with the
situation, or they avoid making more than a nominal effort to achieve a satisfactory outcome.
As these negative responses are the result of emotional insecurity. teachers spend a lot of time
seeking to understand the root causes of behaviour and strengthening each child's sense of
well-being. Teachers encourage pupils to persevere with work and not be afraid of making
genuine errors: they also use mistakes positively by explaining the alternatives and using the
opportunity to deepen children's understanding of concepts.

Hyson (2003) suggests that there are six goals in achieving what she describes as an
'emotion-centered curriculum’: (1) creating a secure emotional environment, (2) helping
children understand emotions, (3) modelling genuine. appropriate emotional responses, (4)
supporting children's regulation of emotions. (5) recognising and honouring children's
expressive styles. and (6) uniting children's learning with positive emotions. Hyson goes on to
offer evidence of the damage to a child's emotional development when appropriate teaching is
lacking. For example, increased instances of stress and anxiety, particularly among boys
and low income black children, when curricula do not adequately address emotional issues.

Macklem (2007) refers to 'emotion regulation' and argues that with targeted training in the
classroom. at home and among peers. children can better attain the vital skills they need for a
lifetime of social interactions. Teachers whose lives are calm and orderly will carry the
associated emotions into the classroom for the benefit of the children for whom they feel
responsible m ways that go beyond the academic realm.

26- What can be the best topic for the passage?
[} Motivation for learning 2) Emotion-Centered curricula
3) Emotional insecurity among children 4) Emotions of learning

27-  All of the following are the results of emotional insecurity EXCEPT

1) making glaring mistakes 2) inability to persevere with work
3) stress and anxiety 4) fear of challenges
28-  According to Hyson, an “emotion-centered” curriculum ;

1} places greater emphasis on children’s learning rather than their emotions
2) aims to make the learning environment emotionally secure

3) is the actual curriculum presented by individual teachers

4) prepares children for the responsibilities of their future life
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29- The word “nominal” as it is used in the passage (line 4) is closest in meaning

= —— -

| } conscious 2} continuous 3) joint 4) simple
30- It can be inferred from the passage that the basis of effective teaching ----—----—-—---- .

1) is located in children’s progress

2) requires mental and emotional exhaustion

3) is fulfilled from being part of a team endeavor

4) maintains connection with children through care and trust
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